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2 During each 4-hour period, the Smalltown police force
requires the following number of on-duty police officers: 12
midnight to 4 A.mM.—8; 4 to 8 AM—7; 8 A.M. to 12 noon—
6: 12 noon to 4 pn—=6; 4 to 8 oii.—5: 8 pM. to 12
wddnight—4. Each polie¢ officer works wwo consecutive
4-hour shifs. Formulate an LP that can be used to minimize
the number of police officers needed to meet Smalltown’s
daily requirements.
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5 Chandler OQil Company has 5,000 barrels of oil 1 and
10,000 barrcls of oil 2. The company sells two products: 0‘? w\az?S} volwme 3

gasoline and heating oil. Both products are produced by .
eq., 10 La 01+

combining oil 1 and oil 2. The quality level of each oil is

as follows: oil l—Jm; oil 2—5. Gasoling must have an

average quality Ievel of at least 8, and heating oil at least 6.
pemand for each product must be creatcd by advertising. A5 JD@ 5“
Each dollar spent advertising ga saline creates 5 barrels of

demand and each spent on heating oil creates LU barrels of

demand. Gasoline is sold for $25 per barrel, heating oil for

<20. Formulate an LP to help Chandler maximize profit.

Assume that no il of either type can be purchascd.
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1 A customer requires during the next four months,
respectively, 50, 65, 100, and 70 units of a commodity (no
backlogging is allowed). Production costs are $5, $8, $4,
and $7 per unit during these months. The storage cost from
one month to the next is $2 per unit (assessed on ending
inventory). It is estimated that each unit on hand at the end
of month 4 could be sold for $6. Formulate an LP that will
minimize the net cost incurred in meeting the demands of

the next four months.
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